Efficiency vs dr

0.1

cy
o«
o
)
AN LARRDRRRRN LRRR)

0.95

107

M—m
M mIEFltREF
M) mEFltREFIt

[ Efficiency vs dr (track,jet) |

it-tes P 100
1t-OR- testLoth 1000evt

Fit 8R2 testLoth
I||Hl||l _l.

-testLowPt 1

1
TP min AR

éo.oz
00.018F
= F
0.016F
q -
H.014F
> -
.012F
s F
‘5 0.0%
£ E
®.008F
0.006F
0.004F
0.002F

iy
TT

Efficiency vs pu

1072

107t
AR(TP, jet)

50.05
o
©.045
30.04
(]
‘©.035
=
®0.03
0.025
0.02
0.015
0.0
0.005F

...................

...................

...................

..................

Ratio

80

100

120 140
Pileup



	Contents
	Page 1


